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m= x| Ax:T.t|tt]true|false|if t thent else t |

0| succt | predt | iszero t

v = Ax:T.t|true|false |nv

nv == 0 |succnv
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[x — s]x =

x—sly=y if y # x
[x—s](Ay:T. t1) = Ay : T. [x — s]t; if y#xandy¢ FV(s)
[x = s](t1 t2) = ([x = s]t1)([x — s]t2)

[x — s]true = true

[x — s]false = true

[x = 5]

if [x > s]t; then [x — s|t, else [x — s|t3
Jo=

x — sl(succ t) = succ ([x — s]t)

|(pred t) = pred ([x — s|t)

]

x — s|(iszero t) = iszero ([x — s]t)
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00000000000 1300000000000000050000000000
000000 100000000009000000000000000000000
(E-APP1), (E-APP2), (E-APPABS) 00000000000

. E-IFTRUE
if true then ty else t3 — to ( )

- E-IFFALSE
if false then ty else t3 — t3 ( SE)

t) — t)
if t; then ty else t3 — if t) then t, else t3

(E-IF)

t — t)

E-SUCC ————— (E-PREDZE
succ t; — succ t) ( ) pred 0 — O (E-PR RO)

t — t)

(E-PREDSUCC) ,
pred (succ nvy) — nvy pred t; — pred t)

(E-ISZEROZERO)

(E-PRED)

iszero 0 — true
!

: (E-ISZEROSUCC) - . _ (E-ISZERO)
iszero (succ nv;) — false iszero t; — iszero t)

t, — t) ty — t
(E-APP1) ~ (E-APP2)

t1 t2—>t/1 to V] Tt — Vy t2
(E-APPABS)

()\X . Tn.tlg) Vo — [X = V2]t12
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gbooodgo

F,XITll_tQITQ
FI—)\XITl.tQZTl—>T2

x:Tel

I'kEx:T (T-VAR)

(T-ABS)

Pl_t12T11—>T12 Fl_t2:T11
'+ ty ta: T12
(T-TRUE)

(T-APP)

T-FALSE
I' F true : Bool I'F false : Bool ( )

Fl_tliBOO]_ Fl_tQZT Fl_tgiT
'~ if t; then ty else t3: T
I'Ft,: Nat
I' F succ t; : Nat
I't,: Nat
I' - iszero t4 : Bool

(T-1IF)

I'-t,: Nat

T-ZERO
( ) '+ pred t; : Nat

(T-SUCC)

TF0:Nat (T-PRED)

(T-ISZERO)
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Oodoodooooooooooooooooooooogoooooooogd
Oo000o0oooooooooooooooooooooooooooooooooon
Nat OO OOOOBeol OOOOOOOOOOOOOOOOO"ello"OOOOOOOO
O String ] 3.14159 0000000000000 Fleat OO OOOOQU

oAb ooooouooouoo A, B, CcOOOn
O000000Oterm dx:A.xO00O0O0000O0 A—=A00O00O0OOterm Xx:B.xO0OOOOO
OB—BOOOOOterm AMf:A—A. Xx:A. f(f(x) 0000000 (A—A)—(A—A) OO
oo
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it JU000Unit 0000000000000 term OO0 wnit00000OOO unit
gob0bDoddumit00000o0o0ddunitdd termJ 0000000 wnit 0000
U00wit0O0O00OO0O0OO0ODOOOO0OOOOO0O00

T-UNIT
I' F unit : Unit (T-UNIT)
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[x — s|unit = unit
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gobobbobobo s, 0b0bb000oooooobbbbbod s, 0udgooaon
0000 00od 000000t 000000 t;t, 000gnooooooon
gbbboogobboood

t) — t) (E-SEQ)
- ————— (E-SEQNEXT
Tty =t t, unit;t, — to ( « )

gbbboogbobobuoooobn

Fl—tl:Unit Fl_tQZTQ
Fl_tl;tgiTQ

(T-SEQ)

00000000000000000000
[x = s](t1;t2) = ([x = s]ta); ([x = s]to)

t;;t, 00000000 (MAx:Unit.t)t, 0000 x0t, 0000000000D0DOO0O
O00000t;;t,0 (Ax:Unitto)t, 000000000 00O00O0O

OO0 1. 00000000000 unitd000000E-SEQOE-SEQNEXTO T-SEQ O O
00000000 XN O000000000000000000 umit000000000
OooNMNOOoOoOo

MNDOtemOODODOOODOOODOOO t5t,000 termO 00 (Ax : Unit.ty)t, 00
00x0+000000000000000000000O0MOterm 00000 cec¢
A — MO elaboration function 0000 0O000O0MN 00 teemtOO000

ot —pt = e(t) —re(t)
e 'HFft : T=THe(t):T
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ObO.0b0002000000000t0000DOOODOODOODOO0 [l

OO0D00D0OOderived formO00000O00O0O0O0OODOOOderived form O 0O O
0000000000000 0000000O000000D00D000DO0oDOoooOoOon
00000000000 0000D00DODDO Progressd Preservation0 00000000
OO0000D0DOO0oooog

Derived form [0 syntactic sugait] 0 0 O 0 00 0O O O syntax sugar 0 0 0 O O O ODerived
formO000000D0O0O0OONO desugaring 0 00O O elaboration O 0O 00O

gudd 1.0 ooouooboboobobbbooooooooog
(unit;unit);unit

gbooo 2. 00000b0booobbooobbooobbobool1bboobbboon
goobd

(unit;unit);unit
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OO0O00000 derived formO00000000O00OO0ODODOO wildcardOD OO O
Ooboobooboooooooooboobooboooboooobn wildeardO OO OO
goggoooooooboobobbbobbobobbbbbboooooooooonon
OO0o00boooobobooooboboon0 wildeardODOODO A8t 00t0OO
OO0D00000Db0000Dx000000M:8.t0derived formO0000000O0O
OO00000Oderived formUO0000000O00O0 wildeardO OO O OO

OO00ooobodn wilddecardO D OO OO

t o= .. | ATt

v i= ... | ATt

gbbbuoooobbbooobobon

I'Ht:T
I'FA_:St:S—T

(T-WILD)

gboboboooobobooaod

(A:St)v—t (E-WILD)

gbboboooobbbuoooobbbouooobobboooobon
[x—s](A-:8.t) =A_:S.[x — s|t

Oobdo 3. term
(A_: Nat.true) ((Ax : Nat.x) 0)

obobobooboobooboobooboobobob

0000 4. term
(A_: Nat.true) ((Ax : Nat.x) 0)
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teem 00000 (ascribe) 0000000000000 O0OO0O0O0O termO0O0O0O
gbobboogobbbogobboooobbooobbbooobbbooooboboo
bOb0O0OtermUOUO00b0Ooooobobooobbbuooobbbuoobboboaan
gbboboggbbbooobbooobobbuoooobbuooobbd termggn
gooobbobbbbbobbbbbboobuouduuuoooooooooooobon
goggbobbooogbbbuoooobbbuoooobboao

gbbbuooogbbbuodid v as TUOODOOOODDODOOOOODOOOO

I'Ht:T

——~ - (T-ASCRIBE
I'FtasT:T ( )
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—— (E-A IBE
vasT—>v( SCR )

t —t
tas T — t' as

gboboboooobbbudd ascription 00000000

(E-ASCRIBE1)

[x—sl](tasT)=([x+—s]t)asT

goog s. 0o
0 F ((A\x : Nat.x) 0) as Nat : Nat

gbbbooodgbbbooodabo

Oo0O0d0 6. term
((Ax : Nat.x) 0) as Nat

gbooboooilgooboooobobboon

00 Ascription0000000000 temO0000t as TOOODOO0OO0OODOt00
0000000 e000000OTFe(t):TOOOOOTN+t:TOOOOOOOOOOOO
0000000a.s00000000000000000000000O0OMO00000
000000000+t as TOtO0O0000000000000t—¢00 e(t) — e(t)
000000000000000000000000000¢t as TOt0000000O
0oo
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gboogbobodbogudgbooobuobbooboobobuogbooooboboo
OO000boboooboobooboboooMLOODODOletx=tint, 00000
gbbobuood sy, 00b000dbbbxbbogoobbbdgddsuoaoon
let0O0D0O0O0OOOO

, (E-LETV)
let x = vy in ty — [x — vty

t, — t)

E-LET
letX:tlint2—>letX:t’1int2( )

ObooobodbletO0boobooonog

F|_t15T1 F,XZTll_tgiTQ
Fl—letx:tl int23T2

(T-LET)

O00D0D0000oboboboog letD0bO00O0OO0OOOO
[x — s](let x =1ty in t;) = let x = ([x — s] t1) in t,
[x — s](let y=t; in t;) = let y = ([x — 8] t1) in ([x — s] t3) ifx#y

OO00let0DO0D00O0O0O0OO0OO0OO02000000000000000O000O00OO00ODO
gbbuogobogdgbbooobbuoobuogobboobobbooobbibboon
gooo

[x— s](let y=t; int,) = let y = ([x — 8] t;) in ([x — s] t3) ifx#£y



ggooo 7. letO
let x = true in if x then O else succ 0

gboboboooobobboooobbbouoooooboboan

goonQg 8. letO
let x = true in if x then O else succ 0

gbooboooil1gboboboooobobboogn

let0 0 derived formO00000000000O000Olet0 letx=t;int,0 (Ax:Tyi.to) t,
000000000 000000O00O000000 0000000000000 1etO
O000D0000Odesugaring0 00 T, 000000 000O0O0OOOODOOOO0O0O0O
0000 (typechecker) 0000000000+, 000 T,00000000000]1et
0000 derived formO0000000000O0O0O0O0OCOOOO0O0O termOO00O000O
Ddoodoooooooooooooooood

'kt : Ty F’X:Tll_t2:T2

T-LET
F"letX:tlintgiTg ( )
gobobooogon
F,XZT1‘|_ t22T2 :
T-ABS) ———"—
Fl_)\XITl.tgi T1—>T2( ) Fl_tllTl

T-APP
'k ()\X . Tl.tg) tl . T2 ( )

gbobooogooobooaoobon

OO0 let0DD0DO0OO0OO0O0OOt0000000000D0ODDOOOO0OO0O0O0 derived formO0000O
oooooooogo

9 0O (pair)

00000000000000000000000000000000000 (pair)d
Dboobbodtwpled 0000000 O0OODODOODOOODOOODOODO

to=... | {t,t}|t.1]t.2

godgg3bbbobbbbbbbtuotoutuuuuooooooooooobibbibbn
ooMLOOOODOOOOOOOobOoobooMLObDOODOODbOOobOoobDooDo
gbgbogobubodgbuoobobuoobbooboobbuooboboboboobon
gobooo
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vi=... |{v,v}



O00D00000000000000D00000 product typeO D OO OO
T:u=... |T1><T2

gbooooogn

(E-PAIRBETA1) (E-PAIRBETA2)

{vj,vo}.1 = vy {vi,v9}.2 = vy

t1 — 1:/1 t, — t’l
—————— (EPROJI) ———— (E-PROJ2)
t1.1—>t1.1 t1.2ﬁt1.2
t — ty — t
1 (E-PAIR1) 2 T2 E-PAIR2)

(
{t1>t2} - {t/17t2} {V1?t2} - {V17t/2}
O00O00O00o0oOOooooon

Fl_tliTl F"tzITg

T-PAIR
TF{t,t,) T, xT,
Fl_t:T1XT2 Fl—t:Tleg
T-P 1 T-P 2
Fl_t.liTl ( ROJ) Fl_t.2:T2 ( ROJ)

gbbobuooogbbobuooobil projection OOOOODOO

[x — sl{ty, ta} = {[x > s]ty, [x — s]ta}
[x — s](t.1) = ([x — s]t).1
[x — s](t.2) = ([x — s]t).2

(E—PAIRl)D(E—PAIR2)DDDDDDDDDDDDDDDDDDDDDDDDDDDD
O O term

{pred 4, if true then false else false}.1

gooboooooboobod

{pred 4, if true then false else false}.1
— {3, if true then false else false}.1
— {3, false}.1
— 3

000040 succ(succ(succ(succ 0))) 000000030 succ(succ(succ 0)) 00O
O0000U0ooUuo 100000000 ooooooooooo

obdod 9. term
(Ax : Nat x Nat. x.2) {pred 4, pred 5}

gbbobuoooobbbuoobobboooobobbogn

0000 10. term
(Ax : Nat x Nat. x.2) {pred 4, pred 5}
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